ER29FEE AINBRI=ZNRTyybAR—ILER INTRE
1) A (Bif1:MH)
i=1=] H20 T & H29RE =B e
TS [ 255,700 ][[ 303,538 ] A 47,838 ]
BN\RTHE 140,000 151,300 A 11,300 |EEEF15134 X ¥100
LtEHYTEEMHBIE 40,000 70,000 A 30,000 [JtREEAHEELY
,,,,,,,,,,,,,,,, B IEMENE 75,700 82,238 A 6538 [LEEBAS, 2EAS
F— LB 740,000 ([ 714,200 1|[ 25,800 1|106F—L4(56,/53)
S 1,548,000 ][[ 1,631,000 ][ A 83,000 ]
tEHYT 160,000 196,000 A 36,000 |[(1%71£)¥2000 x 98F—L
EERE/VEDLYRES 596,000 631,000 A 35000 |[EZ797-L/VFEDHY28F-L4
BEX& 696,000 708,000 A 12,000 |¥6000 x 102F—L4(53/49)
EIFRKE 96,000 96,000 0 |¥6000 x 16F—L4(8/8)
ILEINA [ 70,000 ][[ 50,000 ] 20,000 ]
BEX& 50,000 40,000 10,000 [F-v3-#1-vav. KBRZ#F—E 24t
ERA= 20,000 10,000 10,000 |P&PEH
LA [ 255,000 ]|[ 289,008 ] A 34,008 ]
JESYa—XTovYiheE 5,000 0 5,000
E-JAWIVN: T 250,000 289,000 A 39000 |BEI=-FEFEXS
ZEFI 2 0 8 A 8
IRAEE 2,868,700 2,087,746 A 119,046
2) X (Bifz:M)
EH H29F & H29RE =R e
'ffﬁ% [ 245,000 1|[ 288,844 | A 43,844 ]
o 10,000 25,640 A 15640 |(B3I=@FBES HES
RE 200,000 207,780 A 7780 |ltiEmEES 2EEES
BIEE 5,000 5,430 A 430 |[R—LR—SHE, BitHe
HERE 20,000 37,416 A 17416 |BHARGVA-IREE)
EmE 10,000 12,578 A 2578 |7a—hr—7 Wiz E
R ab 1,580,000 ][[ 1,568,839 ] 11,161 ]|rFOo0—. FERERREIFEH,
tEHYT 50,000 35,791 14,209
EFEXZ 300,000 373,694 A 73,694
VEDOYXRES 170,000 168,154 1,846
BEX= 470,000 459,363 10,637
EIRKR 150,000 199,841 A 49,841
X K &4#B) 40,000 40,000 0 [#EZhK. (&R
Ty a KRB 20,000 20,000 0 ﬁﬁﬁiﬂlzsﬁiﬂﬁi
Syl a—Hitl 150,000 104,000 46,000 [BEIREDH
a3y at—ikEE 200,000 136,570 63,430 |diEHiKRS. 2EAL
¥ & 30,000 31426 A 1426 |1vvat-#B82. 1902590 BA
EHIER 690,000 ]|[ 658,259 ] 31,741 ]
EH|ETLEEE 10,000 10,890 A 890
EEdR 180,000 168,000 12000 [RI—@#EFHEAXS
i 480,000 465,905 14095 |[2EX2. LiEBAS. LiEH
FiEE 20,000 13,464 6,536 |JLiEiiss
=154 180,000 1|[ 194,603 ] A 14,603 ]
I TIN\— 40,000 41,266 A 1266 |ImEESS
BT RT4/8L 50,000 48,937 1,063
- a1— 90,000 104,400 A 14400 |@HESLIBE ith
=k 130,000 ]|[ 130,000 ] 0]
LiEi#s \_;_ 100,000 100,000 0 [Z&H
,,,,,,,,,,,,,,,,, BN\HE 30,000 30,000 0 |#iFsE
FieE 43,700 ]|[ 10,000 ] 33,700 JIEE®H AL
XHEE 2,868,700 2,850,545 18,155
IRAEE XHEE REEEHEE (ZEE=FFE—-REH)
2,987,746 - 2,850,545 = 137,201
3) Iz (Bfr: M)
=] =] H20 T & H29RE =B e
LEAINRTERE 0 137,201 A 137,201
BB AR LN 32 2= 58 908,689 908,689 0
RAARERRIN 2 =58 0 1,045,890 A 1,045,890
(EE=FE-RE)

2018/4/24



